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NOBTOPUM

1.0CHOBHOE TPUFOHOMETPUYECKOE * 1. sin*x+cos’x=1

TOXOeCTBO o 2.tgx-ctgx=1
2. Kak ellie MOXHO npeacTtaBuTb 17 * 3.  +V1-cos’x
3. sinx= * 4. +.1-sinx
4. COSX= e 5.1/cos*x
5.1+ tgx= * 6.1/sin’x
6. 1+ ctg’x= e 7.2sinx-cosx
7. sin2x= * 8. cos*x-sin’x
8. COS2x= ¢ 9, 2tgx —
9. tg2x= 1—tgx

e 10. cosxcosyTsinxsiny

10. cos(xzy)= e 11. sinxcosytcosxsiny
11. sin(xty)= e 12.(1+cosx)/2 —
12. cos?(x/2)= * 13.(1-cosx)/2 _
13. sin%(x/2)= == — el (2=c0sx)/(1+Cosx)
14. tg*(x/2)= e 15. sinx/cos:x
15. tgx= *“16. cosx/sinx

16. ctgx=



1. cos150:; cos210; cos315 1.-1/2;-V3/2;V2/2
2.sin120; sin240; sin135 2.V'3/2:-V'3/2:\[2/2
3. tg390; tg225; tg420 3.V3/3:1; V3 -
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1. cos/0; cos650; cos200; cos500
*2.sIn400; sin/00; sin453; sin923 _
*3.tgll; tg817/; tgb99; ctgh55.
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tex — tgy = sin (x — y) .._*tgx +tgy = Sin (x. + }7)‘ .
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Ne225(1,2,4,5), c. 164.

3 a a LI M YyebHoe nocobue
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sin40®° + sin20°
T T -
COS = — COS — —_—
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cos’x — sin’y '
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sin(2x) - cos(3x) — 2sin’x - sin (3x3
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e 1. Ne228(1)
T 2T

E0S5 = — €05
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e 2. N2228(6)

sin®(5x) — sin®(3x)

* 3. N2228(4)

00520°.+—;in50°
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*N2226(2,3)c. 164
sinx + sin(2x) + sin (3x)

sin20° + sin34° + sin24° + sin30°
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3agaHue no

rpynnam
* 1. Ne230(5)
Sin2s° +:sin37° +-Sin27° + 5ins5°
2. N2230(1) 3
stnl6® +3in26° —sind2®

* 3. N2230(3)

- X - 3X + — e
Sl = — Sl — 105X
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3agaHue Ha AOM

* N2228(3,5),c.166
* N2229(2), c.166

* N2232(3), c. 166 —
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[TpakTn4eckune 3aHATUA N0 MaTeMaTuKe
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Sin25+sin37+sin27+sin35=
2:5in31-cos6+2:sin31-cos4=
2:sin31:(cos6+cosd)=

2:sin31-2-cos5-cosl= &

4-sin31-cos5:cosl —

Omeem:
4-sin31-cos5-cos1
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Sin16+sin26-sin42=
2:5In21-c0s5-2:sin21-cos21=
2-sin21(coc5-cos21)=
2:sin21+(-2)-sin(-13)-sin8=
4-sin21-sin13-sin8 —;——
OTBer:
4-sin21-sin13-sin8




Sinx/2-sin3x/2+cosx=
R
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-2-Sinx/2-cOSX+COSX= =

Oreer:  COSX(1-2sinx/2) ’
cosx(1-2sinx/2) —

2 sin + cosx =
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